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SECTION - I
(AccountancY)

(Maximum : 40 Scores)

PART - I

A.Answerany4questionsfromlto6.Eachcarrieslscore.(4x1=4)

1. In a not-for-profit organization, the annual surplus or deficit is ascertained by

preParing :

(a) ReceiPts and PaYments a/c

(b) Income and ExPenditure a/c

(c) Trial Balance

(d) Balance Sheet

2. In the absence of an agreement, partners are legally entitled to get :

(a) Interest on caPital

(b) Salary
ste'qtlss\t'{"7

(c) Commission '{orrn"P

(d) Interest on loan

3. Which among the following events lead to reconstitution of a partnership firm ?

(a) Admission of a Partner

(b) Retirement of a Partner

(c) Death of a Partner

(d) All of these
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SECTION - I
(Accountancy)

(Maximum : 40 Scores)

PART - I

(a) a;eicl.lm.ueiluo

(b) r.roo'upo

(c) o,dl"srod

(d) orcaor-".tc 
"-reilsa

tlss\rtJe'lrt

(4xl=4)

alr4ol ad crf de;gonaoScm<o'llcri
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(a) eioS 

":eacgil@los 
(oJGoJ(ooo
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4. The ratio in which the continuing partners have acquired the share from the retiring

partner is called :

(a) Sacrificing ratio (b) Gaining ratio

(c) New ratio (d) Old ratio

5. The loss on revaluation at the time of retirement of a partner should be debited to :

(a) All partners Capital Accounts

(b) Continuing partners Capital Accounts

(c) Retiring partner's Capital Account

(d) None of these

6. When the business of an existing firm become illegal, it will lead to :

(a) Dissolution by Agreement

(b) Dissolution by Court

(c) Compulsory dissolution +t
(d) Dissolution by Notice -{il{{rbP-

B. Answer all questions from 7 to 9. Each cairies 1 score. (3x1=3)

7. The donation received by a club for the creation of a book bank should be treated

as:

(a) CapitalReceipt

(b) Revenue Receipt

(c) Capital Payments

(d) Revenue Payments

ME-550
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Interest on opening balance of the capital accounts of partners is calculated for a

period of :

(a) 6 months

(b) 5.5 months

(c) 6.5 months

(d) 12 months

Goodwill of a firm should be ascertained at the time of :

(a) Sale ofany fixed assets

(b) Opening a bank account

(c) Change in profit sharing ratio

(d) Payment of outside liabilities

*l--;\
. *0, .r,i,\-. PART _ II

Answer the following riuestion, which carries 2 scores.

qk
A.

10.

(l x2=2)

List out any two features of,the Receipts and payments account maintained by a not -
for - profit organisation.

Answer any I question from 11 to 12, Carries 2 scores. (l x2=2)

Anil and Biju are partners in a firm, sharing profits in the ratio of 3:2. They admitted

Suku as a new partner with t/+ share in profits, At that time, goodwill appears in the

books at T 10,000. Pass the journal entry for writing off the existing amount of

goodwill.

12. Distinguish between Revaluation Account and Realisation Account prepared by the

partnership firms.

ME-550
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A.

r3.

PART - III

Answer any 3 questions from 13 to 16. Each carries 3 scores.

Calculate the amount of subscription to be credited to the Income and

Account of a Sports Club, for the year ended March 2021 :

(3x3=9)

Expenditure.

(a) Subscription received during 20ZO - 2021

(b) Subscription outstanding as on Ollo4l2020

(c) Subscription outstanding as on 31103/2021

(d) Subscription received in advance as on 3ll03l2}2l

T 54,000

{ 6,000

{ 9,000

{ 4,000

14. A, B and C are equal partners in a firm.

year:
n'uru 'hsslive'ilr

bllowing drawings during this

(a) 'A' withdrew ( 3,000 per month at the beginning of every month.

(b) 'B' withdrew { 3,000 per month at the end of every month,

(c) 'c' withdrew { 3,000 per month at the middre of every month.

calculate the annual interest on drawings to be charged from A, B and c. The

partnership deed provides for 9% interest on drawing per annum.

15. Ajith and Balu are partners in a firm sharing profits in the ratio of 3:2.They admit

Dinu as a new partner for l/5th share in the future profits, which he gets equally from

Ajith and Balu. Calculate the new profit sharing ratio.

ME-550



A. 13 a3<0rc8 16 oroo

3 ccrpcd ollcor.

PART _ III
ao-rca5ong[lo8 oooore',ler]o 3 (r6)ffioro,lff' golo)oooe](o.)l6,.

(3x3=9)

13. a@J cqlcs-m)"SQ{loo!, acdgj202l-oE oroo;m-rccrilaer;cm oldosooro o.roo:iro-retoi

aemeoloE g<.raogsgcoroene o_ro'lm.loajJao]os o)]@, 6,6r]eloJlsleo]e :

(a) 2020 -2021 ot6*o are14 cuolmroor5 54,000 o3o_r

(b) 0110412020 cria3dgleaolgg otolm-roar5 6,000 ogo.r

(c) 3110312021 cn-a;slr4leao3gp ololmroor5 g,000 o;o_r

(d) 3l10312021m"agcrde,36 erelg otolmrooL5 4,000 o3o_r

Hsslive.in +a

A, B, C "gcrrllod alelJ ":e,cg[agc<o) ouocorcnoroflog d*]gg <ocn<oio.r6oruo6nr)

<O)OEot S OlCop cLr oAOJo (o-t &C(0 0 C6rD" I

(a) 
"OtJc 

oc(UoJJo ro'rgseoolo'flc8 3,000 og.r: oJl<o-ro.A, crilo6olen4l.

(b) 
"oFJc 

ocouoJlo Gnoj(ruccDorolog 3,000 o3"r_r oJlo)o ,8, oJlcdorejlgs.

(c) .OtJc ocfiUoJJo aco5oroilto8 3,000 og",.r oflor,C, .rilcrdoleng3.

A, B, C 
"Afrrn ".rocgilaglfrorf"slta <oodor$.,.re1lco e,ene3ojldleerga. oto,cgilonn. .:

eocoloE 6"-rro'io.r6"vo 9% crrloeoloS om6o:g o.reJlooEySgg crll6cgcaa3ene-.

15. ao} o.re,cgil(orD ouocoJmoloflos 3:2 acre GnmloJcroorolloE ondlo,ogo orucaloJlo

oJo,cgilagcerri. gc mrnco:morofloE olmSoJlom ll5 ercre oIlcoro cnr5E61 .,.r3or1ol

.,-recgilolcdolcml. elmsoJlmggg erce oJl<oo roneioilrp, 6DrcCI]oJJo rorSa5acol

mn6a3cm1. Qor o]os o-r]G'ri co er c e Gn mlrLr croo 66rBJoil S1 0er10.

14.

ME-s50 P.T.O.



16' A and B are partners in a firm sharing profits in the ratio of 3:2. They decidecl to

dissolve the firm on31103/2021. on that date the firm has assets of t 1,20,000 and

outside liabilities of ( g0,000.

Prepare the Realisation Account by considering the following details :

(a) Assets were realized for ( 1,50,000.

(b) outside liabirities were fuily paid, except creditors of T 2,000.

(c) Realisation expenses paid by the firm { I,000.

B.

t7.

Answer the following question, which carry 3 scores.

PART _ IV

A' Answer any 2 questions from rg to Z,.Each carries 4 scores.

18. Distinguish between Fixed capital method and Fluctuating Capital

maintaining the capital account of partners.

(1x3=3)

Divya and Reshma sharing profits and losses in 2:l ratio. They admit Sheeba as a new

partner for lo share in profits with a guarantee that her share of profit shall be at least

< 70,000. The net profits of the firm for the year ending March 3r, 202r was

? 1,60,000.

Prepare the Profit and Loss Appropriation Accounflsslive.in

,,;s'u 'hsslNeio

(2x4=8)

method of

10
ME-550



16. A, B o6crnlo.rd 3:2 elcc @amJo.rcroooflo8 enJlmicnm:-o.recgilegcem". 3ll}312)2l-65

oltoooJff)o GESrlollSSoLcoE oroo.16 oflogaccrfleo3cm3. @1, cruoaooro- 1,20,000

to]oJ aoJos <otbcg;1cor3" 80,000 <o3ol<u3os arcooJ 6ni c@JoepJo cruncoJ cnoro'fl cn3ene-.

{o)co9 moSalot'lol@oJcm crilcroococoarncd -rolcnernlg 6r@J crlaotooscmtogo0

Gro€oo6rB- (o)g?oc€o]6.

(a) or9c6liaod ong eLre14<or"1,50,000 oga.r.

(b) oganr.icge-m-flmlgp 2,000ogor acloo o;v3o:o0 6rucooJ 6ilccuJooglo moEe1.

(c) cilcorooetcm-:",sroA ooleJotge,o6aoco, 1,000 og",.r mo6a'l

o)c op rno8e,l cojl o1 dol(m co_r c n5<oro1 m- poro o o o elo.U6,. 3 c cg c d. (1x3=3)B.

17. n1o-r5, co"sl-a 
"6lcrrllo.l6 2:l e.rcre GrdmJ","lc<olorono8 EIcrBo oJeb3ooloogcm onJlmrlcnml"

"]so,cgil@,gceml poL<0 ll4 ace, oJkolo cno8ol 
"dleruoao o-r;o'ilo o-re,cg[loorc@o]cm].

"'.t1or1o o:s},cgileet- 70,000 oloJaolos lclro'r1 ot6"u etcre o-ll<u'ro ojgQo .,-rs},cgila,od

goggmoEascmg. acd2i 31, 2a2l-d ooormrccrjlooJ(m o:6.,srooro eor<oJos

cta$gl!g:. 1,60,000 o;oraoocrD-. o3(m- 
"re+,cgilacdoogacoJl etc{e-cncg oilcrilccorccn

Gn€oo6rB" (o)gcocdo]e.

Hsslive.in '"'r'r'rt

wuw'hslive'in

PART - IV

18 agoro8 20 o.roo c"-rcn5arrgiloS

4 ccEcr0 o.llor".

o63o<orellerl" 2 
"Om(orolffi gomooaeJ(o.)le,.

18. oror,cgilaggos CIJeILDCD (6rd€oo6rBga(6 algcoc@o]on mrolo

<somrolo alelcr.lm cdlofl co3" ro"rmlerSgg oJJCDJcm)6oRod o6,1v3<ogo.

(2x4=8)

a3el<r-lcD dlanlcorgo,
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19. In a partnership firm the amount of capital invested in the business was ( 5,00,000

and the profits for the last five were : '

" 
!- 

n'l

Year

2016 -' 17 40,000

2017 -', 18 50,000

2018 -', 19 55,000

2019 -' 20 70,000

202A -', 21 85,000

The normal rate of return of this category of business is 10% p.a. Calculate the value

of Goodwill based on 3 years purchase of the super profits of the business.

20. X, Y and Z are partners sharing profits in the ratio of 3:2:1. At the time of 'X"s

retirement, the Balance Sheet shows General Reserve of ( 90,000 and Accumulated

loss of < 60,000. Pass journal entries to deal with these two items appearing in the

Balance Sheet. Hslive.in .,r*
J*^"'h'sli'e'!n

B. Answer un, ffir,ori rrom 2*k;;tllrries 4 scores. (lx4=4)
' .t.:, |.lti ? l

Zl. Explain the accounting treatment of the following items in the financial statements of

a not - for - profit organisation :

(a) Legacies

(b) Life membershiP fees

(c) Sale of periodicals

(d) Payment of Honorarium

ME-550 t2



ao] oJa,cEilt0Yo fiuncoJcnoluflos a;e.tt't.lcn cD'lcesioJo 5,00,000 oloJaoc6rD". edleroro.'r

roroero.r-o.rr0.,varrgloerenjlmrlcnmr"eceo(ocoecnafl a1or1o166,fm]:

ott6,gco ?

2016 -' 17 40,000

2017 -' lg

2018 -' lg

20lg -' 20

2020 -' 2l

B. 2l a3rorcE 22

4 crEc<0.

50,000

55,000

70,000

85,000

I
I

Q{oro(oo enJlmimm.l'ouocoJo?6uBgJos (ruceco6rD e:ce rooctrool 6ot<oflot6,.so l0o/o

oc6ID' enJlmrlmmnocrf, <aau.fle, EJcGo aJCm- oldosic6ro6o- ojooRlcm(o)l(rrlge

oJlexorcoi o3ruioJloE a3a5 crfldqpaob ooreJe.

20. X, Y, Z 
"6crn1o:6 3:2:1 e.rcre GDmJ.'Jcroolo16E enJlmicnm.l-o.recgila,gc6m-. 'X, og(m

oto,cg[l oJlooleergcm cruacoonD-erucero0mr'"dlfl,oa eacnoo8 olmldq 90,000 ogo_rot3o,

m;erojlco m.'u" 60,000 oJo.raDlo goaog$$5rB". po oene' pmoBplo

ga dl ao1 es,rgcmoil cnggg ce 6 em o6 a6 o6 gs1 ao6 o0 elol3ar.

rl' ::i i '' '

cuoo cojcBJdrBeilod' 
"63Orom'let1o o<rrilcri g(orDooael(u)lo,.

21. rolcoe moEa,loilg]gg grnd6r3od aog accregorlggconD ouoc":cnoroloof,

(r)m 6,c oJ 
"'r 6ur1 a,a gil oE 

"6 
on o m gd o g s]olor go a cm" oil <ro rJl 6, o1 oer ge :

(a) oerocrulacd

(b) orgeClotrnccro Gnooto! "dlml'

(c) o.rlrol acmrlo,orgJos ofloEgm

(d) cooccrDcoolor" moEalaocor-.

ME-s50 13

(1x4=4)

otc6"sila

P.T.O.



22. A and B are partners sharing profits in the ratio of 2:1.'C'is admitted into the firm

for t/a share of profits. He brings ( 40,000 in respect of his capital. The Capitals of

A and B after all the adjustments were ? 90,000 and { 30,000 respectively. They

agreed to bring their capitals in the new profit sharing ratio (ie, 2:l:l), Calculate the

new capitals of A and B and pass necessary joumal entries for the adjustment of the

capitals through cash.

PART _ V

Answer any I question from 23 to 24. Carries 5 scores. (1 x 5 = 5)

23. , From the given receipts and payments of an Arts Club, Prepare the Income and

Expenditure Account for the year ending March 31,2021.

Cash Receipts during the Year : (

SubscriPtions 32,000

Rent of hall 6,000

Sale of investments

Cash Payments during the Year :

Salary

Hsslive.in
Rent

Electricity

Stationery

iw*,hslive'in

14,000

(

18,000

. 22:,000

4,000

2,000

Adjustments:

(a) Pfepsld salary t 3,000'
\,.

(b) Subsci'iptions outstanding on 3110312021 - < 4,000.

(c) Rent outstanding ( 2,000.

ME-550 t4



22. A, B ogcnfl 
"-ro*,cgilo,od 

2:l onm;oLcrocnoloS €"icieo oll<ufleo;cmJ.'C'ocot 1/4 elcre

o-llcoo mo8e,1 .u;roilco oJe,c$ilao)c6oJeaolo, cloaDcod 40,000 o]"1 ale,<.t.>cnacao,

oecsne]or@Jeao]o odqlcml. "08dc ladla,oemonoaaer3o GuoosiCIl@ A, B

ogcrrfloLo;os oJEJct.lcno 90,000 o]",J 30,000 <ol"J og(m (a,aol?tflelc6ll-. olgao)

(lJEbccilegJos olet@oo .,r1<ol1o erceGnm]oJc(o.)clolcri GnmlcruS(o.)ocao,

iadlao'leercm3o oflo3accrlleergcm3. (or;<oflcor Gnm3oJc(oo 2:l:1). A, B "gcnfl

"re,cgilag;os ".r3al1co 
o3el<rlm o)Ja, cnl6e6goia GEoJ olslD .r:oacotl

ta, dl ao1 eer;cm <or1 m3gg cB d 5rn roE oO cla CS1 6,04 o0 el<o Je,.

PART - V
23 ayorc8 24 otoo c"-rco5amgiloS o6oolo,'lerlo onrjlcri gonDoooelrol}6,.

5ccEc<6. (1 x5=5)

23. Glo] GrOS"m)"S6q[l68 oiloJlco gmoro''flo8 or5'Iro eLrel4o'noa$e)Jo, oacs3orno'iloof,ol;o

oilcronco<roongiloE crllcmlo, ac{6si 31,2021oraorm)ccrr@o}cm oflqocolarer}gE otoot:

od er oi (on6oo5rB" (o9coc66,]o, :

<ornoior 6cv o er re19g ttii :

o.rolmr"or5eod tr.'w19 32,000

6,000

14,000

(

18,000

22,000

4,000

2,000

.ocgiloo! orcs6

3,000 o1.r-t

4,000 o3ot

2,000 o3"'t

' 
or1co,si.,J@Rglos oiloE.,.rm

orn<o'i ol6r{u o o&roS}<omr<oi :

{/00Upo

OJCS&

pe:Pmn91

cgSouemcjl

1a,dleo1 coodrn fl,meurlcd :

(a) agoda36 (ocrJeo

(b) epl<414 orolmroor5 Qll03l202l)

(c) cncEecml@ orcs6

ME-550 15 P.T.O.



24. Aflash and Basith were equal partners in a firm. They decided to admit sreesiv as a

ner.v partner with 1/3 share in the business profits, Their assets and liabilities at the

time of admission of the new partner were :

Assets Liabilities (

Cash

Debtors

Stock

Land and Buildings

6,000

24,000

30,000

80,000

Creditors

Aflash's CaPital

Basith's Capital

40,000

60,000

40,000

Total 1,400000 1,40,000

They agreed on the following conditions at the

partner :

(a) Value of stock is reduced by l0%'

(b) Land and buildings appreciated by 1p%'

(c) Creditors of { 1,000 may be'Miften off'

(d) Unrecorded investment of { 5,000 should be tai<en intoaccount'

Prepare the Revaluation Account on admission of Sreesir .

SECTION - II

time of admission of the new

62

A.

,(

s'u"9
Computerised Accounting 96""e

(Maximum : 20 Score)

PART _ VI

Answer eny 2 questions from 25 to 28.Each carries I score. (2 x I = 2\

In a retail business firm, the code 501 - 5gg is given for washing powders. It is an

exomple of :

(a) Sequential codes

(c) Mnemonic codes

ME-550

Block codes

Numeric codes

(b)

(d)

l6



24. roro.r.o-elc.,sa", en:ccnrlorr- "6lcrrilo6 o)]eJJ .r.recgilogcoo cruocoJmo.nnlog ll3 elce

ofltoro mo8a1 q311*1ni og(m org<o1co 
"-re,cgilocor 

godogsSorolgcmg. o_r3o-.floor

.uec$cor3os (oJcoluom mJaaooro]@ <m0c6;1-euc<15<oacd cocoe moSajloj'lo1@olcm]:

<arOcpla,od ? OuCO5OlArod t
OJCosi"

onoerutgv-ru"

Ggllc66)-

(rl)o eJ or lc oa5i1 so'ng}o

6,000

24,000

30,000

80,000

er1oo.o1cgw"au"

onoohr c"sd oof, aga cr-:m"

oru cmrlo, illoo! a;a <r:cno

40,000

60,000

40,000

GDO6, 1140r000 Gr}oo, 1,40r000

o:;or1co ots9,cg[lcorSos (oJeo]cocn ouaaocrnD- (Dcog .iloao]cm o5omma,uE

ooouIlool4ilSlerre":

(a) cgpceoloo! oJlaagoeroro.r<oi- l0%,

(b) mloaculo oer$sor3o oJla o.rdreucnoi-10%.

(c) olacr.rjlcgv"mJoE 1,000 olor cDoEce6rc<olgd.

(d) eru3aer1oE cootogsgoloflon$gcoor 5,000 @loJ crjlcesroj o)Je

aemeei'loets]@o5rDo.

@1*1ni og(m ors$,cCilaoJos

on eer c enetD g c o c 6el Jar.

((lr corcocnor3aco.tl 6ru mDo.Hd o-r3m6 a]et5crl1 dgoo.r

SECTION - II
Computerised Accounting

(Maximum : 20 Score)

PART - VI
A. 25 agolo8 28

I copcd oJlol".

oroo c'rco5arngiloS o{}o(o)s0,:lerl" 2 
"Omoro,l(ri gonDoooeJ(u)ld,.

(2xl=2)
25. oo3 oJlgo enJlm-flmcru- mrocotrnororloE, Grdel€6,JooJcs1oo6oer" 501 a;roo8 5gg

olooaD]@ G6caDJe0A moEelojlgSene". ptoi"63ro] rooo ceoad6oR-cdloloorcem"?

(a) m-flo_to8"si5oE cacol3ecd

(c) mgcacernlaicecoo;e,od

ME.55O

(b) c%Jc€o'cecoo3aod

(d) mgaolaicacolgoc,d

t7 P.T.O.



26. Libre office Calc is a

(a) Presentation

(c) Text document

software.

(b) Database

(d) SPread sheet

27, Which function in Libre office Calc displays the current System date ?

(b) Now

(d) YEAR

(a) TODAY

(c) DATE

2S,WhichofthefollowingisasystemgeneratedledgeraccountinGNUKhata?

(a) Cash Account

(b) Bank Account

(c) Profit and Loss Account

(d) All of these

B.

29.

Instafment of a bank loan'
1- '4.. .\ ', ii.^

tr) UYJ
\"".

(c) DB ' '". 
.

'''

30. The 'depth axis' in a '3D' chart is called

(a) X axis

(c) Zaxis

(a) Cell

ME-550

(lx1=tr)

Equated MonthlY

(3x2=6)

(b) sLN

(d) Pv

(b)

(d)

Y axis

XY axis

PART - VII

A. Answer any 3 questions from 31 to 34' Each carries 2 scores'

3l.WriteshortnotesonthefollowingcomponentsofLibreoffrceCalc:
(b) Range

18

flss\r'99
6oot""'*

Answer any 1 question from 29 to 30' Carries 1 score'

function in spreadsheet is used for calculating the



26. eL',lo1eru ac"-clm-l-acoSeel'ao3 cmc.'n"g olaooc5lD-.

(a) i"lmco!"vo0
(c) osal&l"colcogoao$

(b) cLDcgc ceum-r"

(d) nu"oiaor-:".dlg

27. cnle-roiloer m,lgBo

"flto,-?
(a) TODAY
(c) DATE

oflorrofl c".r odcrolgfloerScm eil o6enL oc.'dl m-l' aco8ao" 
"con""g 

o6

(b) Now
(d) YEAR

,r.jlgB" crildmloacqo oetcu:b6 oooooene"elmg arcorooiloS eLre5acoololqgg

"6lcti 
?

(a) e5cosi"crdooodre"

(b) erucoirooaooene"

(c) c1ac"n1g'& cercm.t"ron6oc6rrc"

(d) oDoloQDetcobU

(a) X orga-cru1m,r"

(c) Z orgo"mjlm-r"

Tr:-#
B. 29 agorc8 30 o.roo c"-lcoSongiloS o61oro'reilerJo ocrrflcri oc(o)o gonDoooel<ullel.

1copct6. (1 xl:l)
29. oo3 enLcei o-rcofilot3os accru roJlo14soi <trrorcrDao;os o)J6, aeneg..ilslaogcmo'r1cri

oCq3ctr-:""dlg1o6 g"-tcorcoleer3cm anoB-"sioA (rD6rn-.
.$tri..

(a) FA{T:. ii (b) sLN

30. oog'3D' "-rc6$oa 'ooo.,-t"oior9o"cnj'lml-' "63o'ic"-:o1o8 
onololodsfm].

A. 3l a3orc8 34 oroo o-rur*rul*Til};terlo 3 ooffiolo,l$i porooooel.,te,.

2 acrgcd oll<or. (3 x 2 = 6)

31. ejlo(enL ac"dlmr- acoEeerloo! ru'rcov cl-loaol(m o€lsdboBog 6lo1d el"er3alo1d

o$e]<o)]e:

(a) omroS

ME-550

(b) Y cTge-au1mr"

(d) XY orge-or1m-r"

(b) Range

I9 P.T.O.



32. Give the syntax of the following functions in spreadsheet used for asset accounting :

(a) SLN (b) DB

33. Explain the following elements of a chart or graph :

(a) Plot area (b) Legend

34. Name the four parts shown in the 'Table Design Window' appeared at the time of

creating tables in design view.

B.

35.

Answer any I qu?'stinn&om 35 to 36. Carries 2 scores' (l x2=2)

Briefly explain aboutlny two security features commonly available in Computerised

Accounting Systems.

36. Give the path for performing the following aclions in GNU Khata :

(a) Deleting ledger accounts.

(b) View Trial Balance.

PART - VIII

Answer any 2 questions from 37 to 39. Each carries 3 scores. (2 x 3 = 6)

List out the merits of Computerised Accounting over Manual Accounting'

3g. Briefly explain the three types of spreadsheet cell references used in Libre Office

Calc.

A.

37

ME-550 20
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32. oOcg;1e,glos <oraoercenelolcri otqlaD" "dlCnf, g"-rcoco1eo3cm,

m o8 ajl otl o1 €6,J(m .'n 6oR"osJ m;e g Jo s ol c o, J 
os s m .'6; vl<ol;e :

(a) SLN (b) DB

33. ao3lcdgT6oc"doo! cnosaioiSJgg ossa,drRog a3o1q oL'lcrrolaoSo :

(a) cqlc$"6o1eor (b) oaoooS

34. ctnloomrod ogoJlos csanj'lqaod m-l5",gileergccuccr0 ecdln3on 'csenfsa olloornlaE

crl o0caDcoro8' god og$S3gg cnc ei reco oun ggos c"l d oCIe]<orJa,.

35 a3oro8 36 o.roo cr-rco5ongiloS anrilrnS oc(6)o goroooaelto,le. 2 ca;c6 (l x 2 = 2)

acnrggd rao<D1.,sjb1@ roraeerpenelo<.ro'm.:(mroccoonrrloS ooJc<ollolcoll a,errelo-roco]@

.,63 o or eo,1 er p a.*" *3. ;* c m) oJl c co nsc ro a cra oi co rJl oo1 6ole.

J\

36. slm] otcoroojlo8 o)coe c,:oaolon co-rtudorocnoncd crfldq"rlleolcm<o1cn3gg

(&acml(ntd)crlc{0) o$el{o)}e :

B.

35.

37.

(a) oerao-ead GE6oo6rB3a<6 ctoleJlg er"-tgo8

(b) tsccuoS enLcsoEm-rga,o0 ecernlaogcmoil m-.

PART _ VIII

37 a1orc8 39 otoo c"-lcoSongiloS 
"61otoro,'let3"

3 cngctd o-llor".

e@6Jro rsneercenel"<rri dl<o1ccoeoco6, ecnlg56

cacaaod of'loctlDfJco ?

*#
Z^u#
tntl "

2 o6goro)1m- gonnooDelolo,.

(2x3-6)

oro<r.r'l 
"sd-ol 

(o.) roooero erelocnl m;gg

38, ello(enr acndlm-:'e,coEeoloS p".rccorcall6o](m alcml orroo otq$* "dlg ornroE

o",o ooEmrSo,og e,pl2ioJl o: oi eo3a.

ME-550 2t P.T.O.



39. Explain the purpose of the following types of vouchers, by specifying its shortcut

keys, used in GNU Khata.

(a) Payments .'.

(b) Purchases

(c) Contra

Answer the following question, which carries 3 scores. (1 x 3 = 3)

State the purpose for which the following functions used in Libre Office Calc :

B.

40

(a) CONCATENATE

(b) RArE

(c) NPV %k

22



-E-

39. o)ooe mcf,elor@loofm oilcr.il<lorlmo oJololecd, elml oronD onaeruonel"ori

cmlc.'n-goo-tcolciloE, o{)Oo" GroorcoJoRodaer" po-rcorcol€o}Cmooj(rD- erumoor$S

"OglH oL dl6,(rd mo8a,1 oJlcooaceer}e,.

(a) o".rco-ooo$'o'u-

(b) atdc4mrm-r-

(c) ca,cenElsc

ocoe moSajlojlo'ldol(m carcn5<oor'lm-g<oroooae3ol&.3 aagc6. (1 x 3 = 3)

eilo(en-r acoolmr- e,coSeefloE eJe5acorlg}g (o)cop ciloao](m .,non-.,vm3ogJos

QoJGQ0C{no .r61OCOtCm".r6;9}OJe :

B.

40.

(a)

(b)

(c)

CONCATENATE

RATE

NPV
%k

ME-5s0 23


